

































































































 

Chem

l C C c

is an endothermic reaction

Dilute hydrochloric acid is tested with UI andwithCocoz

withcocos colorlessgas is givenoff

Cations move to the cathode to gain e
and Ions lose e atthe anode

Increased Conc of Co2 and methane in air cause an
enhanced greenhouse effect

Jewelers is made of gold alloys rather Pureold
Alloys are harder

Zinc carbonate add92 No oh white Pit

add dilute HCI colorless 9ns

theelement is less metallic because e are lost less

eastFez souls
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